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Paper Code 2024 (1st-A)
Number: 2197 INTERMEDIATE PART-I (1 1" Class) Roll No:
MATHEMATICS PAPER-I GROUP-I o@ pakcity.org
TIME ALLOWED: 30 Minutes OBJECTIVE AXIMUM MARKS: 20
Q.No.1 | Yo have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero marKk in that question.
S.# QUESTIONS A B C D
1 [ Inverse of square matrix exists if it is: Singular Non—singular. Null Symmetric
2 | If A is skew symmetric, then A will be Symmetric Skew Hermitian Skew
o9 symmetric Hermitian
3 | Product of roots of x* =5x+6=0 is: =B 6 @ 5 =3
4 | Roots of equation cx” +ax+b=0are b2 —d4ac<0 | c*—4ab<0 | a*—4bc<0 | a®—4ac<0
complex if: 1)
5 1 1 ———==
x4+l x+1 x*-x+1 Bx+c B C B+C
(Numenator of x* —x+1) &
is: 0 360
6 | Nextterm of 1, 3, 12, 60, is 12 180 A(({\\ 2’_'0 o
7 | General termof —2,1,4,7, is: n-2 @ B3 2 3n-3 3n-5
8 | A die is rolled, probability that dots 1 4 <1 P 1 1
on top are greater than 4: E <2 & 5 Z '6'
L7
9 | Sum of odd coefficients in expansion %5\/ 16 18 6
of (1+x)* is: @ o
<Q)
10 | —1035° is coterminal with /@ > 60° 30° 45° @ 35°
11 | cos(a@+p) - cos(a—ﬂ)# T—Zcosa cos8 | 2cosa cosf 2sina sinf | —2sinasinf
12 v i 7
Period of secx is: m 2z @ 3z 2
Bl fsG-a) cos— @ sin> tan — cotZ
b T 2 2 2 2
‘ A
14 | tan[tafi ' (-1)] = | z _r
— 1 -1 @ 4 4
15 3 V.4 V4 T L
sinx cos¥=i—, then x = 5 3 L] 3 2
16 2; —] - i2 = 1
3x+y“i=1-2i", then valuegof x 1s: ; { & - 4 -
17 | 1f 2=+/3+i, then |2|= 4 V3-i ~3+i 2 @
18 | Inverseof p—>q is "P‘*"“I. ~qg—>-~ P ~q—>p q—>~p
19 | Set A contains 4 elements, then number 8 12 16 4
of elements in its power set P(A): ©
20 | {1, -1} is group with respect to: Addition Subtraction Square root | Multiplication
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TIME ALLOWED: 2.30 Hours l SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8X2=16
O | simplify (2,6)+(3,7) @) Separate into real and imaginary parts 1;
+i
(i) | Yz e C, prove that |-z|=|z|= |z]= |-zZ| (iv) | Find the multiplicative inverse of —3—5i .
(V) | Express {x|x & N A x <10} in descriptive and tabular form.
; — - =
(vi) | Show B— A4 by Venn diagram when 4 — B (vii) Find x and y if x+3 1 1 [y 1
-3 3y-4| |-3 2x
it g A =[ 1 _1], A= [ ! o], find the values of @ and b . | (%) Without expansion show that t a3
a b 01 4 5 6|=0
789
() | Find roots of the equation 5x> —13x+6 = 0 by using quadratic formula.
(xi) | Find four 4™ roots of unity. (xi)) | Solve the equation =l
3. Attempt any eight parts. 8X2=16
(i) | Define Rational fraction.
(if) Write in to partial fractions _____.2‘.2_ without finding constants.
(x*+1)? (1-x%)
(iii) | Write the first four terms of the sequence a, =(~1)" (2n—3)
(i) | How many terms are there in APinwhich g =11, a, =68, d=3?
() | Sumtheseries 1+4—7+10+13~16+19+22-25+ to 3n terms.
(vi) . 1 1 1
Find the sum of the infinite series -2— + Z + §+ -
(vii) | How many signals can be made with 4-different flags when any number of them af¢ to be used at a time?
i) | 1r "C, = "C,,, find n. - (©
(ix) | Determine the probability of getting 2 heads in two successive tosses of'a\balanced coin.
() | Prove 2+6+18+ +2x3 =31 for n=1, 2K
() | Calculate (21)° by means of Binomial theorem. @ (xi) 3
Expand (1+x)3 upto4 terms.
4. Attempt any nine parts. o> 9X%X2=18
® | In aright angle triangle ABC, prove that ‘W’KQ%) cos’f =1
(i) | Prove that cot®’ @ — cos® @ = cot? @ (@g@é (iii) | Provethat sin3a = 3sina -4sin’ «
(¥) | Express the product as sum or w sin12° sin 46° ™ Prove that tan(%—ﬁ) + tan 3T”+ 0) =0
(v) | Define period of a trigonometrie Function. V) | pind the poriodof coszs ic_
(viii) | Draw the graphof y =tanx for — 7 < x < 7. !
- i
() | Find area of triangle ABC, if a = 4.33, b = 9.25, y =56°44’ ;
(X) | Find R, ifsides of triangle ABC are =13, b=14, c=15 () | showthat 1. 1,1 1 '
2rR _ab _bc ca
(xii) Without using calculator, show that ¢og-! ; = cot™ g /4 Find the solution of gjn x cosx = _‘/_3
4 4
SECTION-II
NOTE: Attempt any three questions. 3X10=30 !
5{a) | Use synthetic division to find the values of p and g if x+1 and x—2
are the factors of the polynomial x* + px? +gx+6
(b) | Use matrices to solve the system of equations X, —2x, +X, =—4, 2x, —3x,+2x, =—6, 2x,+2x,+%, =5
6@ Resolve into partial fractions -
(x - 1) (x+1)
(b) | Show that the sum of 7 A.Ms. between a and b isequalto 7 times their A.M.
74@) | Findvaluesof » and 7 when "C,=35 "P, =210
() | Using Mathematical induction to show that 1+ 2 + 2% + +2" = 2™ _1 for all non-negative integers 7.
S Prove without using calculator sin19° cos11° +sin71°sin11° = %
(®) | Solve the triangle ABC in which @ =36.21, ¢=30.14 and A = 78°10"
9.(a - b) a4 .45 . 416 =
i Piowethat 200 Hc6d =1 tan @ + secd £ Prove that sin™ —+ sin™ =+ sin!' — = —
tand — sec@+1 5 13 65 2
11th
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11th Class Mathematics Objective Paper Group 2 Multan Board 2024

Paper Code 2024 (1st-A)
Number: 2198 INTERMEDIATE PART-I (11th Class) Roll No:
MATHEMATICS PAPER-I GROUP-II
TIME ALLOWED: 30 Minutes ] OBJECTIVE | MAXIMUM MARKS: 20
Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S.# QUESTIONS A B C D
1 | Sum of binomial coefficients is: 2" @ n 2n n?
2 | Trigonometric ratio of —330" is same as: 60° 3° @ 45° 90’
3
§7£+ @ lies in quadrant: st nd 3rd 4" @
4 | Range of y =sinx is: (<L -1, D [-1,1] ) (-11]
S | In right triangle, no angle is greater than: 45° 80° 60° 20 @
6 Domain of y:sin"(x) is: —l<x_<_1. -12x21 -l1<x<l1 0<x<l1
7 1 4 7 T 7
If coxx = —, then reference angle is: — — - =
72 s 6 ; @ ; 2
8 | Every non-recurring, non terminating Rational Natural o Trrational Whole number
decimals represents: number n%m@' number @
9 | The multiplicative inverse of complex (0, -1) Q %d}fl) (-1,0) (0,0)
number (0, 1) is: 2
o I
10 | How many inverse elements correspond At 1@@ Two At least one Only .one
- 9
to each element of group? @ -
11 | Set containing elements A or B is @ ANB AUB AcB Bo A
denoted by: @ % O
12 | p— q is called converse of: 7 D 9 & P9 97l e@ ~q—>p
13 | The inverse of square matrﬁ&}if\sts if A | Singular Non-singular Symmetric Rectangular
is: ' o
L
14 | If A is a square matrix of order 2 x 2 T K|A' “l—!A| K? ]Al 2K|A|
then IKA l equals: K o
4
15 ¢ 4% = 1 h . 1 to: =d -2 1 1
[ —5 then x is equal to: 5 o 5 2
16 | The roots of the equation x> =5x+6 =0 2,-3 -2,-3 2,3 -2,3
are. | ‘
17 x- [mproper Proper Identity Equivalent
The fraction is:
x+1 [
18 1 1 ab —
G.M between 1 and — is: e + L =) a
a b ab ab
19 "
Zl is equal to: 1 o n @ n?
k=1
20 | 31,
a is equal to: 3 6 @ o 12
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TIME ALLOWED: 2.30 Hours | SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I .
2. Attempt any eight parts. 8X2=16
(i) | Simplify (2,6)+(@3,7) (i) | Find multiplicative inverse of a + ib R
(i) | Show that forall ze C, z7=|z[ (iv) | Simplify 3 é\ i
- |2 B e paKCIty.OI‘g
(v) | For A4={l,2,3,4}, state the domain and range of relation {(x, y)|x+p =5}
(vi) | Define Semi group. vii) | ¢ A=1- -2 3] . find A7
L-4 5]
o) 1 ge ,_[2 3] thenshowthat 44-34=4 | (X i '31
=5l it A=( 5 -3 B ,then find 4,,, 4,
|«2 <3 1]
() | Discuss the nature of roots of  2x*+5x+1=0 | &) | Evaluate (1+w—?*)*

(i) | solve by completing the square x> +6x—567 =0

3. Attempt any eight parts. _ 8§X2=16
() | Define Identity. Give one example.
(i) | Write 2x-3 in partial fraction form without finding constants.
e CNED g
¥(2x+3){(x~1)
(i) | 1f @, ,=2n—35,thenfind nth term of sequence. (iv) | Find b if 5,8 are two A.Ms. between a and b.
™) T y=1 WL , then find the interval in which the series is convergent.
= S———
v | e _1., _’___, _1__ are in H.P, then find k.
k 2k+1 4k-1

(vii) | In how many ways can 4 keys be arranged on a circular key ring?

(viii) | Find the number of diagonals of 12 sided figure.

) 11 peay=te pemy=t: panmy =L, then find P(4UB @
()2,()2«(10)3 ( ) <Q
X ; n n n-1 s s Xi 9
(®) | Provethat 4" > 3" +2"" for n=2 and n =3 (xi) Expand (54 — _x_) by binomial theorem.
S ¢ 3a
s ) e
(xit) If x isso small that its square and higher powers be ne &\\t'/ﬁcgﬁ show that /-1_‘_{= -
q g p V 1-x
A 1+x
4. Attempt any nine parts. N> 9x2=18
() | Prove that «in? % 4 sin? % + tan? % = 0 (i) | Showthat 1 _ D 2?0
sin P + sin 3 + tan i 2 @@ wowag + vy se
(iii) | Prove that sin(180° + ). sin(90° — a@&\—@b&z .cosa (V) | Find the value of cos105°
A
() | Show that $in3¢ _ cos30 _ (vi) | Write domain and range of y =sinx
sind _ cosé
(vii) | Find the period of tan 4x@ @) (viii) | Draw the graph of y =sinx from 0to 7

() | 1n A4BC if £=60°;, y =15"; b =46 , then find a and ¥

() | Find area of AABC inwhich @ = 45°17'; y = 36°41'; b = 254 | (x) | Define inscribed circle

(xii) | _. A 10 (xiii) | Define trigonometric equation. Give one example.
Find the value of gec sin"(—— i
2 )J
SECTION-1I
NOTE: Attempt any three questions. 3 X10=30
5.@) | Find the inverse of [2 b 0] and show that ' 47" A =1,
A=[1 1 0
i2 -3 5]
b 2 . 2 - 2 2 2
®) Prove that -i2—+ Sﬁ’x_b“_;_ﬁ)__ =1 will have equal roots, if ¢* =a’m*+b"; a#0, b+#0

- 2

2 ) y 5 i Pi i is 440.
6.(a) Resolve X *! into partial fractions. (b) T_he sum of three numbers in an A.P is 24 and their product is

2+l Find the numbers.

7.(a) | A number is chosen out of first fifty natural numbers. What is probability that chosen number is multiple of 3 or of 5.
(b) !

Show that - ]_ = . A where n and N are nearly equal.
2(n+N)| 9n—-N 4n
8.(8) Prove without using calculator that  sin19° cos11® +sin71%sinl1° =%

(b) | Find the area of the triangle ABC , when @ =35°17', y=45°13"and b=42.]
9.(a) | Prove the identity and state the domain of &  sin®6 + cos® 8 =1-3sin* @ cos® 8

(b

) 1

5 a1 .
Prove that tan™ L +tan”' = =tan™' — + tan” —
11 4] 2
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Paper Code 2023 (1*-A)

Number: 2191 INTERMEDIATE PART-I (11" Class) Roll No:
MATHEMATICS PAPER-I GROUP-I Multan Board-2023
TIME ALLOWED: 30 Minutes | OBJECTIVE | MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think is
correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill
the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

S# | QUESTIONS A B C D

1 | Theset {1, -1} possess closure Multiplication Addition Subtraction Division
property under:
2 | If 'p' is logic statement then p A~ p is: | Tautology Absurdity | Contingency | Conditional
3 | Determinant of any unit matrix has value: | Greater than 1 | Less than 1 1 Zero
4 | If order of a matrix 4 is m x n and order
of matrix B is n x p then order of matrix %01 Rxm mxp pxm
(AB)' is:
5 | Reciprocal equation remain unchanged 1 1
when 'X"' is replaced by: -X X x? Y
6 | If o isa cube root of unity then Zero 1 @ P
1+ 0® + ®¥ is equal to:
7] x2+1 O
will be proper fraction if degree 2
0(x) @@ :
of Q(x) isequal to: O

8 | (n+ 1)th term of an A.P. is: a, +( 2 a,~(n-1)d| a+ a, - nd

ad

9 | If A, G, H have their usual meani P i

a and b are positive distinct real (} G<H >G>A G>H>A
numbers and G > 0 ¢fifgh: @
QAo

10 | In how many ways, e 23 25 26

seated at a round tab

11 i n n-1

With usual notation o C s

12 | Number of terms in 2n + 2 2n+1 2n 3n+1

(1+x)>*', 'n'is po
13 Inequality nl>2" n<4 nz4 n=3 n<3
14| =, s Acute Obtuse Quadrental Non-
5 is an angle: quadrental

15 | tan(a - 90°) is equal to: cota —-cota tana —tana

16 | Period of 3sin3x is: & i T T 27 n

pakcity.org 3 2 £y

17 [ If a, B, y are angles of an oblique a = 90° B =90° y =90° No angle is

triangle then it must be true that: 90°

18 | If ABC is right triangle then law of Pythagoras Law of Area of Law of

cosines reduces to: theorem Sines triangle tangents

19 | y = cosx is one to one function in 0 27 [0, 27] [0, ] [0, 7]

interval: Ky

20 | If cos2x = 0 then solution in first 30° 45° 60° 15°

quadrant is:

13(0bj)(%)-2023(1"-A)-17000 (MULTAN)
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INTERMEDIATE PART-I (11™ Class) | 2023 (1"-A) [ Roll No:

MATHEMATICS _PAPER-I  GROUP-1

TIME ALLOWED: 2.30 Hours [ SUBJECTIVE [ MAXIMUM MARKS: 80

NOTE:

Write same question number and its parts number on answer book, as given in the question paper.

2. Attempt any eight parts.

SECTIONL . Multan Board-2023 5=

(i) | Simplify as a simple complex number (5, -4) (~3,-2) | () | gypress the complex number 1 + i~3 in polar form.
(iii) | Write the descriptive and tabular formof {x|xe NAx+4=0}
(iv) | Forthesets A={l,2,3,4,5}, B= { 4, 6, 8,10 } verify the commutative property of intersection.
th ~ _s i " i j ]
(v) | Show that the statement ~ ( p» — g) — p is a tautology. (vi) If 4 [ i 0 . showth A% 1,
—i
i) | ) 2 3 -1 (viii) 4 23
Without expansion show that I 1 ol=0 Find the value of A if matrix 4=l7 3 6 is singular.
2 -3 5 2 33
(i) | Solve x?—2x — 899 = 0 by completing square. ® | Reduce x*— 6x* +10 — i; i _l‘_ — 0 to quadratic form.
X X
(xi) | Discuss the nature of the roots of the equation 9x*—12x+4 =0
(xii) | Prove that the sum of cube roots of unity is zero.
3. Attempt any eight parts. 8x2=16
(i) | Resolve 7x 425 into partial fractions.
(x+3)(x+4)
(i) | Find the number of terms in APif g, =3, d=7 and a,=59 | (iii) I Define a geometric progression (G.P).
(V) | 1f the numbers .l_ ‘1 and are in harmonic sequence, find &.
k' 2k +1 4k -1
(v) | Find the sum of the infinite G.P, 2, V2,1, .........
(vi) | How many terms of the series —7+(—4)+(-1) +. . amount to 114?
(vii) | How many 3 — digit numbers can be formed by using each one of the digits 2((3\4{}7 9 only once?
(viii) | Find the value of 7, when "C, = "C, m
(%) | If sample space = {1, 2, 3, ....... 9}, event A ={2, 4, 6, 8} ande¥épt B = {1, 3, 5}.Find P(A4U B)
(x) | Use mathematical induction to prove that the formula is true ﬁgﬁd s B T TC T O ol
2
(1) | calculate (2.02)* be means of binomial theorem. W
(i) | ¢ x isso small that its square and higher pog;@neglccted, then show that M ]+ ix
O 1-x 2
4. Attempt any nine parts. N\ OV 9x2=18
| (D) | What s the length of the arc intercepted o a circle of radius 14 cms by the arms of a central angle of 45”7
(ii) | Find the values of all the trigorOruttric functions of 420°. (iii) | Prove that 2cos® #—1 = 1-2sin* @
(iv) | Prove that cos330° sm@h c0s120° 5in150° =~ (V) | Provethat cosll®+sinll® _ oo,
cos11® - sinll®
(Vi) | Find the value of cos15° without calculator. (vii) | Write the domain and range of cosecant function. _
(viii) | Find @ f a=7 b=7 ¢=9. l (ix) | With usual notations prove that A = J.s(s -a)(s-b)(s—c) |
(x) Show ‘hat r’ =Sm§ (XI) Prove that sin =1 x= %_ cos" x :,
() Find the solution set of gjn xcosx = £ in[0, 27]
4
(xiii) | Solve the following trigonometric equation o2 =1 in [0, 27)
3
SECTION-II
NOTE: Attempt any three questions. 3x10=30
5.(a) | Use matrices to solve the system of linear equations x -2y + z = =1, 3x+ y-2z=4, y-z= 1
(®) | Solve the equations simultaneously a, b 4 g
x+y=a+b, —+—=2 o@ .
x_y % pakcity.or
6.(3) | Resolve into partial fractions 4x’ e £
(x*=1)(x+1)
(b) | A die is thrown. Find the probability that the dots on the top are prime numbers or odd numbers.
s+l n+l
e Find 'n' sothat 9+ 8" may be harmonic mean between @ and b .
a" +b"
DI . . . % ;
If 'x' is so small that its square and higher powers can be neglected, then show that (9 + 7x)* — (16 + 3¢ 117
4 + 5x 4 334
8.(8) | Find the values of other five trigonometric functions of @, if cos@ = 12 (b) | Show that tna +tan/f _ sin(a + f)
13 tana - tanf  sin (a - fF)
and the terminal side of the angle is not in the first quadrant.
9.(a) Prove that (n+n )tan{- -p (®) Prove that identity ¢an! IL + tan ™ % = tan™ % + tan™ 5
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Paper Code
Number: 2198

2023 (17-A)

INTERMEDIATE PART-I (11" Class)

Roll No:

MATHEMATICS PAPER-I

crour-_|Vultan Board-

023

TIME ALLOWED: 30 Minutes

I OBJECTIVE

[ MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think is
correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill
the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

S.# QUESTIONS A B C D

1 | If A is a matrix of order 3 x 1 1x1 1x3 3x1 3x3 .
h derof AA'= - s
then order o C’ﬁ DcIkCItV.Ol'g %{
2 |If b*-4ac < 0 for a quadratic B F
; 2 Real and Real and Complex or Real and rational
equation ax®+ bx + ¢ =0 then unequal repeated imaginary
nature of the roots is
3 | Under what condition one root of p=0 q=0 p=1 g=1
x?+ px + q = 0 is additive
inverse of other.
4 | Partial fractions of Ax+B ¢ A B Ax B A B :T—v
1 oo x4l | TotTa | G T | 3G ae
———————are of the type : ’ x=1 x+1
(x-1)"(x+1)
5 | Fifth term of geometric 24 30
progression(G.P) 3,6, 12, ..... is:
6 Si:m of nterm of the series n(n+1) s (n(2n+D)7
Z.‘:2 is: 2 o 2
k=1
7 12x11 13
If"C,p = ———then n =
2! -
8 |If A and B are two independe P(A)+P( P(A)+ A B-P(AUB)
events then P(ANB) =
9 | The sum of coefficients in the oy on p Xl on
binomial expansi B PR
10 | Third term in th N 2x -2x 4x’ - 8x’
(1+2x)"is
11 | The radius » of { L] PaE N
which the arm of 35cm 30 cm 32cm
of measure 1 radid
of length 35cm is §
12 | 3sina — 4sin’ a sin3a cos2a sin2a
13 | The range of the fu; TRL)<H@ -yl y2lor y<-1
y =secx is:
14 | If measures of the sidj
triangle 4BC are at 10.5 B 14
b=14, c=15then r
15 | With usual notations the circum- abe 4A A s
radius R = aA abe r A
16 Sin-l. A+ Sin -1 B= ﬁn"(AJh_ﬂ'-bﬂmi) ﬁnﬂlﬁo-ﬁ-{l—-ﬁl |iu"_{»f_‘r$¢74—ﬁm sin™! [‘TJ]—_?_ y\ﬁ-:}_?)
17 | Solutions of the equation
sic  ual3 n/ 5Sm 2n/ 4nm 4/ Snm 4
smx_—'J_A which lie in A- /6 A’ A A' A %. %
[0, 27 ] are:
18 |If x+iy=rcosf +irsind VY y X
o Yy x X
be the polar form of complex tan x Lo x L y L e
Y
number then angle @ =
19 | A compound statement of the Conjunction Disjunction Conditional biconditional
formif p then g is called:
20 | In a square matrix A all elements Lower Upper Symmetric Singular matrix
below the principal diagonal are triangular triangular matrix
zero is called: matrix matrix

18/0hiVd 4 2+ 1L2700W 15 AV 12000 {MMTIT T AN
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Multan Board-2023

INTERMEDIATE PART-I (11" Class) [ 2023(1%-A) | Roll No:
MATHEMATICS PAPER-I  GROUP-II
TIME ALLOWED: 2.30 Hours [ SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8X2=16
(i) | State trichcnomy property and transitive property of inequalities of real numbers.
(1) | Separate _’__ into real and imaginary parts. (iii) Define Overlapping sets.
1+
(iv) | Construct truth table for statcment (pa-~p)—g v) Define semi-group.
i) |1 L (i 0] showthat A*= 1, (vii) | Write two properties of determinants.
1 =i
(viii) | Define Skew Hermitian Matrix. (ix) . i
Solve the equation x? - x*-6=0

(x) | Evalvate (1+ @ - @*)* | (xi) I Use factor theorem to determine if x — 2 is a factor of ¥’ + x* — 7x + 1

(i) | If ¢ and A are the roots of 3x”— 2x + 4 = 0 find the value of %...ﬁ

3. Attempt any eight parts. 8x2=16

(i) | Define Proper Rational Fraction.

(ii) | Which term of the A.P 5, 2, -1, ...... is —-85?

(iii) | If 5, 8 are two A.Ms between a and b, find a and b.

(iv) | Sumtheseries 3+5—-7+9+11~-13+15+17 =19 +......... . to 3n terms.

(v) | If4, G and H are arithmetic, geometric and harmonic means between a and b respectively, show thatG* = A H

(vi) | Find the sum of » terms of the series whose nth termis n* + 4n + 1.

(Vi) | prove from the first principle that "P. =n. “-lﬁ-l /ﬁw

(viii) | How many permutations of the letters of the word PANAMA cap bk xpade, if P is to be
the first letter in each arrangement? /\,& O

(i) [1f "Cy= "C,,,find n. /&\L\bv
(x) | Use mathematical induction to prove 2 + 4 + 6 +\ \sl/+ 2n=n(n+1) for n=1,2 i
(xi) | Expand by using binomial theorem (a + 26)@\5‘ (xii) 1 '
Expand (1 — x)? up to three terms.
4. Attempt any nine parts. AANS 9x2=18 |
(i) | Find x, if tan® 45° - cos? 60° (@rﬁé cos45° tan 60° | (ii) ] Prove that sec’ A + cosec’A = sec’ A cosec’ A |
(iii) | prove that L . 1 ec? @ (iv) | If a, f3, y are the angles of a triangle ABC,
I+sind 1 then prove that tan(a + f) + tany =0
(v) . s (vi) P the identity 1~ €05¢ @
Prove that sin(45° + @) = —(sina + cosa) rove the identity ———— = tan—
_JE sina 2
(vii) | Find the period of cot8x ] (viii) i Find the area of triangle ABC, given three sides, a =18, b = 24, ¢ = 30
(iX) | Prove that nnn = rst (x) | A plane flying directly above a post of 6000m away from anti-aircraft gun I
observes the gun at an angle of depression of 27°. Find the height of the plane.
(xi) Find the value of cos | sin™ 1 (i) | Find the solutions of the equationgot @ = L‘ g liein [0, 27]
2 V3
(xiii) | Find the values of 8, 2sin@+cos’@-1=0
SECTION-II H
NOTE: Attempt any three questions. 3 x10=230 |
5.(a) . P— 1 2 -1 (b) Find the values of @ and & if —2 and 2 are
l =
Find the multiplicative inverseof | = | . e ok ofpolynomial P —4x +ax+b
| 1 0 2
6.(a) . . x4
Resol t I fractions
esolve into partia ions = pak(:Ity Ol'g
(b) | There are twenty chits marked 1, 2, 3, .. , 20 in a bag. Find the probability of picking

a chit, the number written on which is a mulnplc of 4 or a multiple of 7.

7.(a) | Find n AM’sbetween @ and b .

() | Use mathematical induction to prove that 1+ 2 + 4 + ...+ 2" ="

8.3) | Prove the identity sin®@ + cos®@ = 1— 3sin” 8 cos’ @

(®) |If a+ f+ y =180° prove that cot B cotu + cot f coty + cota coty =1

9(a) | Provethat r, + r, + 7, —r=4R ® | prove that sin™' 1% sin"-:si = cos"]l—,s]

e 15-2023(1%-A)-15000 (MULTAN)
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you

Q.No.1
(1)

()
3)

“4)
&)

(6)
Q)

®

€))
(10)

(1)
(12)

(13)

(14)

(15)

(16)

(17

(18)

(19)
(20

think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

The product of roots of the equation 3Ix?+5x=0 O@ pak(:lty.org %‘:

(A) '—5 ®) 3 © 5 (D) 0

An equatlon which is true for all values of unknown is called:
(A) Identity (B) Algebric equation (C) Algebric relation (D) Conditional equation

The AMbetween 1 —x+x2 and 1+ x+x2is:  (A) x+1 (B) x* +1 (c)"+1 (D)J"“l

G.M between 2 and 8 is/are: (A) 5 (B) 8 C) % 4 (D) 16
The sum of an infinite geometric series with | 7| < 1, where first term is @ and r is common ratio:

(&Y == (B) (€ =2 D) —
L+ Jmp? l—r 147

If "P, =30, then n= (A) 6 (B) 4 ©) 5 (D) 8

General term in the expansion of (a + x)" is:
h _ n n
W)z (e ﬁ%@ﬁ o)
r r % r

2

-§4£ radian = (B) 225° (C) 335° (D) 270°
(c0s20)? + (sinR8)* = @ (A) 0 (B) 2 (C) 4 D) 1
sin(180° +a)= O@ (A) —cosa (B) sina (C) cosa (D) —sina
Period of tan% is: (A) 7 (B) g (©) % (D) 37
In any triangle ABC th-usual notation, 7, =

A
(a) —= (©) ® =
s-a s=b s-cC 5
Circum radius K =
(A) == ®) 2 © % ®)
abc s s—a
it e | R 1 z .
cos[sm JE] = (A) J_i (B) > © n (D) 2
If sinx = -\/2—3— and xe[0,27] then x =
S5t 4Ar 71’ 3n )r 2r T Srm
=0 I £ =22 LA i D) —, —
(A) 3’ 3 () 4 (C) 3 ()66
If A and B arg non empty disjoint sets then:
(A) ANB =4 (B) ANB=B (C) ANB=¢ (D) ANB = ¢
If z=-2+3i,then z =
(A) -2 -3i (B)2-3i (C) -2 +3i D) 2+3i

[

-a =b d -b -b g =}
(A)[ ’ d] (B)[_c a] (C)[ - d] (D)[ ’ _d]
If | 4] =5 then \A'|= (A) % (B) 0 (C) -5 (D) 5

Sum of all the four fourth roots of unity is: (A O (B) 1 © -1 (D) 4
cmsg vt e T s A 1rAY 000 (MITT. TAN)

b-}
I A=[“ p |, then Adj 4=
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MATHEMATICS PAPER-I

2021 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)
TIME ALLOWED: 2.30 Hours

GROUP-I SUBJECTIVE MAXIMUM MARKS: 80
NOTE: Write same qyestion number and its part number on answer book, ; i ;.
as given in the question paper. C’% pakcﬂy.org %’D
SECTION-I o N
Attempt any eight parts. 8x2=16

P

(1)
(ii)
(i)
(iv)
v)
(vi)

(vii)

(viii)

(ix)
(x)

(xi)

(xii)

)

(i)
(iii)
(iv)
v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

(xii)

Find the modulus of the complex number 1- i3

Simplify (2,6) +(3,7)

Name the property used in the following equation a(b - ¢) = ab — ac

Write two proper subsets of the set {a, b, ¢ }

Construct the truth table of the following statement (p A ~ p) = ¢

Find the solution of the linear equation xa = b, where a and 5 belong to group G.

2 0 1 4 -2 3
Find x and y if *ls2 i
1 y 3 0 2 -1 1 6 1

v S
; g@<§
Without expansion verify |1 b2 2 =0 O
ca O%
1 2 =
© @
Solve the equation by using the q ioformula  16x*+8x +1=10
Evaluate (1 - - o?) (1 =@Hd*)
~2 3
Find the invetse of ]
-4 5

If @, B are roots of the equation x>~ px — p — ¢ =0 then prove that (1+ @) (1+ f)=1-¢

Attempt any eight parts. 8x2=16
Resolve 21 z into partial fractions without finding the constants.
(x+1) (x*-1)
2
Resolve 4z into partial fractions without finding constants.

(x2+ 1) (x-1)
If a,_; =2r -5 find the nth term of the sequence.
Find A.M. between x — 3 and x + 5

If 5 is harmonic mean between 2 and b, Find b.

Find the 12" term of the harmonic sequence }/, y, y, —————

Find the value of n if "p,:" 'p; =9:1
How many necklaces can be made by 6 beads of different colours?
How many diagonals can be made by 8 sided figure?

Verify the statement 2 + 6 + 18 + ———— +2x3"'=3"~-1 forn=1,2

Expand (4 - 3x)"é upto 3 terms.

x 3
If x be so small that its square and higher powers be neglected, prove that _JH=x ] - rid
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4. Attempt any nine parts. 9%x2=18
() Find r, when £=5cm, 6= %radian.

(i)  Write any two fundamental identities of trigondmetry.

i) Evahuste — /3 = mz ’7 c@ pakcity.org %‘,

(tv) If a, B, y are angles of triangle ABC then prove that cos(a + f) = —cosy

(v)  Provethat tan(45°+ A)tan(45° - A) =1

Wi Provetign R LNNCY i

cos8x + cos2x
(vii)  Find the period of sin%

(viii) A kite is flying at a height of 67.2m is attached to a fully stretched string inclined
at an angle of 55° to the horizontal. Find the length of string.

(ix)  Find the area of triangle ABC, when b=37, ¢ =45, a =30°50'

(x)  Provethat rryrr = A @@
X

(xi) Show that tan(sin~' x) =

(xii)  Solve the equation sinx = i, h [0, 27]
2

(xiii) Find solution of the equ icx = -2 which lies in the interval [0, 27]

SECTION-II
NOTE: Attemptany questions. 3x10=30
-1 2
5(a) If A= 1 4| and B-——[_; f:| then verify (AB)' = B'4’

2 -1

(b) If '@'isarootof x?+ x + 1 =0 show that its other root is o’ and prove that o’ =1

2

6.(a) Resolve x} ual
x +1

into partial fractions.

(b) Find four Arithmetic Means (A.Ms) between 2 and %

7.(a) Find the valuesof n and », when "C, =35 and "P, =210

10
(b)  Find the coefficient of x*in the expansion of [ x2 - Zi)
X

8.(a) Provethat sin®@ — cos® @ = (sin? @ - cos?8) (1 - sin? @ cos? 9)
2sind sin(280)
cosé + cos(38)

(b)  Prove that =tan(20) tand

9.(@) The sides of a triangle are x*+x+1, 2x+1and ¥*-1.

Prove that the greatest angle of the triangle is 120°.
+1 tan"i

(b) Prove that tan™ 1 w2 =t
11 6 2
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct,|fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The AM between +2, 32 is: (A) V6 B)-2v2 (C) V2 ®) -6
(2) Common ratio of G.P -1-, l. : is:
a b c
(A) i‘/fl_- (B) iJE ©) :I:JE (D) i\/E
c a c b
(3) H.Mbetween 3 and 7 is: (A5 B Y21  (© % (D) -%
(4) If 4 and B ar¢ two independent events, then P(ANB) =
(A) P(4) + P(B) (B) P(4) - P(B) (C) P(4UB) (D) P(4)- P(B)
(5) The number of terms in the expansion of (a + x)" are:
(A) n (B) n+1 (C) n-1 (D) 2n
(6) The valueof tan@ for 6 = 30° is: A V3 B @C) (D)
™ 5—6"- radian = (A) 150" 130° (C)120° (D) 60°
(8) If sinx -/ O<a<¥ oL then cosa = @ (A) = (B)% (C)-g— (D) %
(9) = is the period of: secd (B) cosect? (C) cotd (D) sin36
(10) Inany triangle ABC, with usu n Js(s £
(A) cos-;- B cos-—{ ©) cos—g (D) sin%
(11) Radius of e-circle ite to vertex 'A4' of AABC is:
- A A A A
(A) B) ) — (D)
s—-a s=c s s—b
(12) 2tan”'(4) =
{ A 24 af 24
A) tan™| —— B) tan™' C) tan™ D) tan™
“ "[1-—/1’] = [1+A2] = 1- 42 & 1+ A7
1. /4 4 T T
i = — 1S8; —_— —— — Dy —
(13) Reference angle of sinx 5 is (A) 3 (B) = ©) . (D) 5
(14)  Every non tetminating, non recurring decimal represents:
(A) Rationallnumber (B) Irrational number (C) Natural number (D) Whole number
(15) If A and B areany subsetsof U, then 4 - B =
(A) AUBC ®) (4UB)° (©) (4N B)° (D) AN B

(16) A square matrix 4 =[a;, ] is called upper triangular matrix if:
(A) a;;=0for i<j (B) a;;=0 for i>j (©) a;;#0for i>J D) a,;=k for i<j
(17) The trivial solution of system of homogeneous linear equation in three variables is:

A) (0,0, 1) (B) (0,1,0) (©) (0,0,0) (D) (0, -
(18) If a, B are the roots of x*~px-p-c=0,thenaf =
(A) -p-c (B) p+c ©p-c (D) -ptc
(19) Sum of all the four fourth roots of unity is: (A) 1 (B) 0 © -1 (D) 2
g ; x*+1
(20) Partial fractlonof TH-D) will be of the form: :@pakcﬂy Qrg%a
(B) A +Bx+C Ax+B ©)1+ A i B

x+1 x+1 x-1 e x+1 x-1
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as given in the question paper.

NOTE: Write same question number and its part number on answer book, g@; pa kci ty 0 rg 9"
8

SECTION-1
2. Attempt any ¢ight parts. x2=16
(i  Provette Bllawingnile ofadaitio, 2 + 2 = L2
C c

(i) Find the multiplicative inverse of (-4, 7)

(iii) If Z, and Z, are the complex numbers then prove that | Z,- Z, | =| Z, || 2, |

(iv)  Write the set { x|lxe NAax< 10} into (i) Descriptive form (ii) Tabular form
(v) Determine that p — ( p v ¢) is a tautology or not.

(vi)  Find the domain and range of the relation {(x, Wix+y>5 } if A= {l, 25 3: 4}

1
(vii) Find x and y if [“3 ]{ 2 1]
A Gyl

-3 2|
(viii) If A4 and B are two square matrices of same order, then @why in general

(A + B)(A-B) = A* - B? @O@
o
&
%o

itive number and its reciprocal is 359»

(ix)  Without expansion, show that |4

(x) Find four fourth roots of unity,

(xi)  Find the number, if sum

(xii) Discuss the n4t he roots of the equation 2x” + S5x —=1=10

3 Attempt any eight parts. 8x2=16

1
(x-1D(2x-1)(3x-1)

(i) Resolve into partial fractions

xX+15
(x2+2x+5)(x-1)

(i) Resolve into partial fractions, without finding the constants

@) If l, L and L] are in A.P, show that b = £00
a b c a+c
(iv)  How many tetms of the series =7 + (=5) + (-=3) + ———, amount to 65?
) Find geometric means between 2 and 16.
(vi) If y= gl : x? + -l-.:r3 +-——andif 0 <x <2, provethat x = 2y

(vii) Provethat "F, =n-""'P,_,

(viii) How many artangements of the letters of word, taken all together, can be made “PAKISTAN"?

(ix)  What is the probability that a slip of numbers divisible by 4 are picked from the slips
bearing numbers 1, 2, 3, ---, 10?7

(x) Show that theiinequality 4” > 3" + 4 is true for integral values of n = 2, 3

(xi)  Expand upto three terms (4 — Z’:x)’l/2

l1-x 3
(xii) If x is so small that its square and higher powers can be neglected, then show that Jl+— m]l-=x
X

2
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4. Attempt any nine parts.

(1) If sinf = __J% @(6)is in 3" quadrant. Find the value of cot#

(i)  Verify that 2sin45° + %cosec45" " % o@ pakcity.org %a

(iii)  Verify that (secé + tan®) (secf — tanf) =1

(iv Express sin319°as a trigonometric function of an angle of positive degree
P

measure of less than 45°.
(v)  Provethat tan(45°+4). Tan(45° -A4) =1

(vi) Provethat 1+ tana . tan 2 = sec2a

(vii)  Find the period of 3cos-§-

(viii) Solve for C in atriangle A4BC if y = 90°, a = 62°40' and b = 796
(ix) Inan equilateral triangle find the value of R.

(x)  Provethat (r, +7n, )tan% =c

(xi)  Find the value of cosec(tan™' (—1)) @@

(xii) Solve sinx + cosx =0 for x € [0, 27} S

(xiii) Find the solution of coté = / A fo@ ]

@‘*‘ CTION-II
NOTE: Attempt any three ques(@ 3x10=30

5.(a) Solve the system of linear, Ons by Cramcr's rule.
2x, = Xy + x3=8, Xy + 2x3=6, 2x2 xy=1
(b) Ifthe roots of px x +q =0 are a and /3, then prove that \/— J— \]: =
6.(a) Resolve 2 ks into partial fractions.

(x +4)(x+3)
(b) Sum of three numbers in A.P. is 24 and their product is 440. Find the numbers.

2 3
7.(a) If y=%+12'—'3(%] +-1—%—§(-:-}] +————— then prove that y2+2y-2=0

(b) Find the values of n and r when "C, =35 and "PF, =210

-7
3

8.(a) Find the values of the trigonometric function

) Prove that 25085028 _ 0 201n6
cos@ + cos3d

9.(a) Solve the triangle ABC if a =33; p =88°36"; y=31°54'

(b) Prove that sin"(iJ +sin”! ( —?-J = cos™ ( 253 ]
13 25 325

15-2021(A)-12000 (MULTAN)
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| Peper Code Roll No:
|Number: 2191 | INTERMEDIATE PART-I (11" CLASS)
MATHEMATICS PAPER-1 GROUP-I1 TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you

think is correct, fill that bubble in front of that question number. Use marker or pen to fil} the bubbles.
Cutting or filling two or more bubbles will result In zero mark in that question. Attempt as many questions as
given in objective type question paper and leave others blank. No credit will be awarded in case BUBBLES
are nof filled. Do not solve questions on this sheet of OBJECTIVE PATER.

Q.No.1 .
(1) If 1= =1, then " = % Pakc“Y-Ofg%"

(A) 1 (B) -1 €) i (D) -i
(2)  The symbol used to denote a biconditional between two propositions is:
A) — (B) A (C) «— (D) v
(3)  Foranon singular matrix A, if AX =8, then X =
(A) 4B (B) BA™ (©) (48)" ®) (B4
| -2 3
(4) If 4={0 0 1], then M, = (A) 13 (B) 0 (C)10 (D)7
4 5 2
(5)  The number of roots of polynomial 8x* — 19x’ = 27 =0 are: (A2 (B)4 (CO)6 (D)8

(6) If s=sum of roots and p = product of roots, then quadratic equation c%tscn as:
A x* +sx+p=0 @B)x*-sx-p=0 (C)x?-sx é@ (D)sx?=sx+p=0

1
U] 25 5 isa fraction: (A) Proper (B (C) ldentity (D) Irrational
(X - 3] ( X+ 2] @
® ¥ a =(-1)""", then a, = (A ®)-1  (©) i (D) ~i

(9) Geometric Mean between 4f and -16! i @A) 8 (B)-8 (C)x8 (D) £ 64
(10) The factorial form of n{n -1)(n =
n!
(A) TP (B) (
Qan \'thn Aoand B arct int events, then P(AUD) =
(A) P(A)~ P(B) (D) P(A)+ P(B) -~ P(AN1B) (C) P(A) - P(ANB) (D) P(A) + P(B)

& (m—r+1)is:
(C) n! (D)

(n=r+1)

(12) The statement 4" > 3* + 4 istrueif: (A)n<2 (B)nz2 (C)n22 (D)ns2
(13)  Inthe expansionof (3 - 2x )", 5" term will be its:

(A) Last term (B) 2™ last term (C) 3" last term (D) Middle term
(14)  The measure of angle between hands of a watch at 3 0'clock is: (A) 30° (B) 60" (C) 90° (D) 120°
(15)  The angle -3-%'- ~ @ liesin quadrant:  (A) [ @) 1 ©) (D) v
(16)  Range of the function y = cosx is:

(A) ~w<x<w (B) ~w<y<w (C)-1sysl (D) -1sxs}
(17)  Ina AABC with usual notation ’ﬂ%}ﬂ = (A) sin% (B) cos% (©) cos-g (D) sin-g-

(18) Areaof AABC in terms of measure of its all sides is:

¥ "
(A) -;-bcsina (B) 5—’;1‘;-";—-‘;-‘12 (©) %casinﬂ (D) JsGs-a)(s-b)(s-c)
(19  Tan(fan™(-1) )= A-1 @1 (©)2 (D) -2

(20)  Solution set of sinx=-é- is:
Ar Sn n S m 4n
Ayl S L s .
(1{3.3} (n){a.s} ‘C’{s‘a} (D) {07}
13(Obj)( ¥ )-2019(A)-25000 (MULTAN)
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INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-I TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part number on answer book, pa ke Ity Ol'g
as given in the question paper. .
SECTION-I - )
2. Attempt any eight parts. 8x2=16
)  Express (2+ =3 )(3+ =3 )inthe formof a-+i and simplify.
(i)  Find the multiplicative inverse of (-4, 7)
(iii)  Factorize 9a’ +16b°
(iv)  Define union of two sets and give an example.
(v If A and B are any two sets then prove (AU B) = 4'N 5’
(vi)  Define tautology and absurdity.
(vii) If 4 and B are non singular matrices then prove (AB)™ = B4
. ) -2 3
(viii) Find the inverse of matrix 4 = a & @@
. 0 2-3i . @
(ix) If 4= then show that A is skew-hémmitian.
(x)  Solve the equation X - . 6=0 @
(xi)  Using factor theorem show that (x —% actorof x! +4x -5
(xit) The sum of a positive numb its iprocal is 2—56 . Find the number.
3. Attempt any eight 8§x2=16
(i) Define “Proper Rat Fraction”,
1
(iiy  Resolve f-;—:‘:-i(li-_—l—)- into Partial Fractions.
e 2x + 1 A B B
it For the identit =
(ii1) identity A T T R x-l+x+2+x+3 Calculate the value of B.
(iv)  Find the next two terms of the sequence: 1, 3,7, 15, 31, ----
(v) Ifthenthterm ofthe APis 3n'~1, find its first three terms.
(vi)  Find the 11" term of the geometric sequence: 1+ i, 2, l_‘l_ N
+1i
(vii)  Insert two G. Ms. between | and 8.
(viii) Find the 12" term of the harmonic sequence: %, % -{15-, S
(ix)  Find the value of # when "P:""'P, =9:1
(x)  Provethe formulafor n=1and n=2: 1+4+74+~-==+(3n-2)= pn=Y)
2
(xi)  Calculate (0.97)’ by using binomial theorem.
(xii) Expand upto 4 terms: (2 - 3x)™ taking the values of x such that expansion is valid.

PtT. O‘
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4, Attempt dfiy nine parts. 9x2=18
() Find 8, if £¢=1.5¢m, r =2.5cm

(i) Prove 2sind5° + -iz-coscc“' = -j—_-

2
(iii) Prove (tan@ + cotd)? = sec’ Gcosec’d
tana + tan B _ sin(a + f)

(iv)  Prove
tana - tan B sin(a - )
tzmg + cotg
(v)  Prove —2 2 _ech
é
cot— — tan—
2 2

(vi) Prove sin(% -9]sin(i;- + 9] =-%cos29
(vii) Find the period of cos2x.
(viii) Find the areaofa A4BC, if b=37, ¢ = 45, a = 30°50'

bc

. a
(ix) Prove R= Ty <g @

(x) Prove rrrr = A @

(xi) Prove cos(Sin"'x)= Jl_—7 <> °

(xii) Find the solution of secx =2 @ in [0, 27]

(xiii) Find the values of & satis &u&tmn 2sinf +cos’8-1=0
O@ SECTION-II

estions. 3x10=30

NOTE: - Attempt any th

5.a) Show thatthe se w? } when w® =1 is an abelian group w.r.L. ordinary multiplication. 5

(b) Find n sothat - ::ﬂ 5 may be A.M between a and b. 5
va-i
6.(a) Find the inverse of the matrix 4=|3 4 2 by using column operation. 5
1 2 -2
(b) A dieis thrown twice. Whatis the probability that the sum of dots shown is 3 or 1. 5
7.(a) Find the condition that + — > = § may have roots equal in magnitude but
xX—-a X =
opposite in signs. 5
13 135
(b) Use binomial theorem 10 prove that 1+ —;- a8 + 2812 PRNRESIN ;) )
8.(a) If cotf = % and the terminal arm of the angle is in the I quadrant, then find the value of S
3sin@ + 4cosf
cos@ - siné
5

(b) Find the value of sin18° without using table or calculator. Hint:50 = 20 + 36 = 90°

11 1 . 1 5
9.(2) Prove that ol ab+bc+ca

(b) Provethat Tan™ ﬁ-i-Tan 6 = Tan™ -l-Tan - o@pakmty org%o 5

13-2019(A)-25000 (MULTAN)
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r Code 2019 (A) Roll No: Multan Board-2019
F_— 2192 INTERMEDIATE PART-I (11" CLASS)

THEMATICS PAPER-1 GROQUP-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

2: You have four choices for each objective type question as A, B, C and D. The choice which you

< is correet, fill that bubble In front of that question number. Use marker or pen to fill the bubbles.

ing or filling two or more bubbles will result in zero mark in that question. Attempt as many questions as
n in objective type question paper and leave others blank. No credit will be awarded in case BUBBLES

10t filled. Do not solve questions an this sheet of OBJECTIVE PAPER. 4 :

0.1 pakcity.org
If a0 then: (A)2a<0 (B)+<0 (C)-a>0 (D -a<0

a

The number of subsets of u set having 4 clements is: (AYd (BY16 (C)8 (D) 10

If all the entries of a column of a square matrix A4 are zero then:

(A) [4]>0 B 1a]<0 (C) 14]=0 (D) None of these
If A and B are two non-singular matrices then (A8)™" is equal to:

(A) A°'B" ®) s'at (C) B4 (D) AR

If x! =3 =0 then sum of roots is: (A) Zero (B)3 (C) -3 (D) 1

Ifonerootof x* +1=0 is I then other root is: (A) -1 By-i (1 (D) =zl

A fraction N(x; is called Proper Rational Faction if: @
o
(A) Degrec of N(x) < Degreeof D(x) (B) Degree of} Degree of D(x)
(C) Degree of N(x) < Degreeof Dix) (D) D@r@ D(x) < Degree of N(x)
) For aninfinite Geometric series for which |r{ <1, S, where n — o
(A) all+r) (B) ~lw (D) -2
l~r l+r r | —-r

I\

\2
(A) (C)["(”;”j D) n(n+1)

10) How many ways S keys can be arranged on a circular key ring? (A)12 (B)S (Y4 (D)3

") With usual notations, 9 k’ equal
=1

n(n+1)

1) "I cquels: (A) "C, (B) r!'x"C, (C) :I; * WYFD) rx °C,
12) Inthe expansion of (1 + x)", the sum of binomial coefficients is:
(A) n (B) n+1 ey 2" (Dy27!
13)  nt> n? is true for integral valuc of n: (Ayn=3 (Byn=4 (C)n=2 (D)n=1l
(14}  The vertex of an angle in standard form is ai: (AY(1,0) (BY(O. 1) (O)Y (Y. 1) (MM (0, 0
(15)  sin(a + B) + sin(a = ) equals:
(A} 2sina cos 8 (B) 2cosa sin (C) sina cos (D) sina
(16)  Domain of cosx function is: (A) W (B) N ) R (D) Z
(17)  Circle which passes through vertices of a triangle is called:
(A) Circum circle (B) Incircle (C) e-circle (D) Point circle
1. . 2
{8)  Withususinotaiions, ERL 08 o clie M)A BmA ©L2 mi
2siny 2 2
(19) Tan"% + Tan™ -;' equals: (A) Tan™'3  (B) Tan™'2 (C) Tan™"1 (D) Tan™'(=1)

(20)  Solution of equation tanx = '% is in:
Al

(A) 1 and I} quadrant (B) 1 and [l quadrant  (C) Il and IV guadrant (D) I quadrant
ii(Obj)(‘:a’)-?OW(A)-HOOG (MULTAN)
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2019 (A) Rol! No:
INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-II TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part number on answer book, S - ¢
as given in the question paper. C@ pakc:ty.org %"
SECTION-1 - ¥
2. Attempt any eight parts, 8§x2=16
() Find the multiplicative inverse of (-4, 7)
(i)  Simplify (i)
3
Gii)  Simpify [ -ty ﬁs}
2 2
(iv) Write down the power set of {a, {b,¢}}
(v) Showthat p = (g v p) is tautology or not.
(vi) For A={1,2,3,4} find therelation {(x,))ix+y<5} in 4.
(vii) State any two properties of determinants.
(viii) Show that for a non-singular matrix 4, (A7) =4 @@
1 2 3% O@)
(ix)  Without expansion prove that |2 3 6x|=0 O% %
35 9x @
(x) Reduce 2x' - 3x? — x? - 3x + 2 = 0 id quadratic form.
(xi) Solve the equation x° +x? + 0
(xii) Define exponential equati
3. Attempt any eig . 8x2=16
(i) Resolve into partial fractions.
(x+1)(x=1)
(ii)  Define improper rational fraction.
sk 1 A B [ D
i For the identit s + -
) lr’(;H-I)l(xz—l)“x--l x4+l (x+1)¥ (x+1)
Calculate the values of 4 and D.
(iv)  Write first four terms of the sequence a, =31 -5
(v)  Find the 13 term of the sequence x, 1, 2-x, 3 -2x, -~—-~
(vi) How many terms of the series =7 + (=5) + (=3) + ——~—amount to 657
(vii) Insert two G.Ms. between “2™ and “16”.
(viii) Write two relations between A, G, H, in which A = Arithmetic Mean, G = Geometric Mean,
H = Harmonic Mean.
(ix) How many arrangements of the letters of the word “ATTACKED", taken all together, can be made?
(x})  Prove the given formulafor n=1, 2 I+y2+%+--——+2—:-_—'=2[1—2]—h
(xi) Calcutate (9.98)* by means of binomial theorem.
(xii) If x is so small that its square and higher powers can be neglected, then show that

1-x 3

s "3

P.T.O.
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(xiii) Define trigonometric equation. Give one example
SECT
NOTE: - Attempt any three questions. @ 3x10=

5.(a)
(®)

6.(a)

(®)

7.(a)

(®)

8.(a)
®)

9.(a)
(b)

Multan Board-2019

(2)
Attempt any nine parts, 9x2=18

()  Prove that sec? 4 + cosec?4 = sec? 4 cosec® A where 4222 neZ

(ii)  Write two fundamental identities.

2
a@ pakcity.org go
(iii) Show that cot*8 + cot? @ = cosec*d - cosec’d — £

(iv) Provethat tan(45° + 4) tan(45° - 4) =1

(v)  Express sin5x + sin7x asa product.

sind +sin24
14+ coSA+cos2A4

(vi) Prove that tan A

(vii) Write down domain and range of y =tanx

(viii) Find the area of the triangle ABC, giventhree sides a =18, b =24, ¢ =130
(ix) Show that r=(.s-—a)tan%

(x)  The area of triangle is 2437, lIf a=79,and ¢ =97, then find angle 5.
(ki) Showthat cos (Sin"'x) =1 - x*

(xii) Solve the equation sin2x = cosx @@@
e

Show that the set [ I, -1Li =i ] is an a%up under multiplication where % = -1

2 4 8 . 3 3y
If y=Zx+—x+—x) + =»-'adif 0 <x <=, thenshowthat x =
YEIETYE T NV g T 20+ )
b+ a®
Provethat [c+a b b°|=(a+b+c)(a-b)b=-c)(c-a)
a+b ¢ ¢t

Find the probability that the sum of dots appearing in two successive throws of
two dice is every time 7.

Use synthetic division to find the values of p and g if x +1 and x - 2 are the factors
of the polynomial x’ - px? + gx 46
If x issosmall thatits cubs and higher powers can be neglected, then show that

\)l-x—sz ﬂl*lx—gx:
2 8

Prove that M = tan & + secf
tan@ - secd + 1

If a, B, y are the angles of AABC then prove that
B B .7 4

[+4 a
tan— tan= + tan— tan= + tan=-tan— = |
7 oy TRy 22

Provethat r, +r, +ry =r =4R

al al =«
i tﬂ. — —
Prove that 2tan 34- n b

15-2019(A)-13000 (MULTAN)

30
S
-



Multan Board-2018

Please visit for more data at: www.pakcity.org

Paper Code 2018 (A) Roll No:

Number: 2195 | INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you

think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles.
Cntﬁng or filling two or more bubbles will result in zero mark in that question. Attempt as many questions as
given in objective type question paper and leave others blank. No credit will be awarded in case BUBBLES

are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 pakcity. org

() If "Cy ="C,,, where C stands for combination then value of » is equals to:- *—
(A) 4 (B) 20 ©) 8 D) 12
(2) Theinequality n* > n + 3 is true for:- (A)nz22 B)n23 (C)n20 @D)nz21
(3)  The coefficient of the last term in the expansionof (x - y)*is:- (A)-1 (@B)1 (C) S5 (D)-5
@) Sin*(58)+ Cos*(50)= (A) 5 B2 (@©]1 (D) 10
(5)  Fordouble angle identities Sin2a =
(A) 1-28in’a (B) 2sinaCosa (C) 2Cos’a -1 (D) Cos’a - Sin‘a
(6)  The smallest positive number p for which f(x + p)= f(x) is called:-

(A) Index (B) Domain (C) Coefficients (D) Period
(7)  Forany triangle A4BC, with usual notations r, is equals to:-
A
@2 @=ta S
5 s=b -c

(8) If AABC is right angle triangle such that mZa = 90°, then { gal notations, the true statement is:-
(A) @® =b? + ¢? (B)b’::a +ct (O —a%b M) a® =b*=¢?

(9) Thedomainof y = Sin™'x is:-
(A) -1<x<1  (@B)-1sxsl @xsy ©) ~7f <x <%
1 %ZS
(10) IfSinx-E then x=__ @
@) "% 5T @ O O, O, 5
(11) I n isprimethen V7 is:

(A) Rational number le number  (C) Natural number (D) Irrational number
(12) If a,beG, where a group then (ad)™ =
A) a'b” B) 6™'a™ ©) i (D) ok
ab ab
(13) If 4 =[i ;] then co-factor of “4” is:- A)+1 B)-1 (C)-4 (D)3

(14 If A= [a,J,]:,,,r3 , then | KA| =

(A) |4] ®) K|4| (©) x?*|4| (D) K*|4|
(15) If x* +4x* =2x+5 isdividedby x -1 thenthe remainderis:- (A)10 (B)-10 (C)8 (D)-8
(16) Nature of the roots of the equation 2x* + 5x =1 =0:-

(A) Irrational and unequal (B) Rational and equal (C) Imaginary (D) Rational and unequal

: —_—

(17) The type of rational fraction 3': 21 is:- (A) Proper (B) Improper (C) Polynomial (D) Identity
(18) In geometric sequence nth term is:-

(A) g, +(n-1)d ®) %[2::,4-(:1-1)0‘] (C)-I-‘{'—r ®) a,r"""

(19) For any series ZK=

k=l

n(n+ 1;(2:: +1) ® " (n " (n2+ 1) D) n? (n4+ 1)?

(20) Fortwo events A4 and B if P(A)=P(B)-§ then probability P(4ANB)=

1 1 |
(A) ry (B) 3 © < D) 1

(A)
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2018 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)
MATHEMATICS PAPER-I GROUP-I TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part number on answer b S . E
as given in the question paper. er books C’@ pakcnty.org %‘7
SECTION-I T )
2. Attempt any eight parts. 8x2=16

(i) Write Closure Law and Commutative Law of Multiplication of Real Numbers.
(ii) Showthat z? + (Z)? isareal number, Vzec.
(iii))  Show that z.is}z]z, zece.

(iv)  Define a semi - group.
(v)  Write number of elements of sets {a, b} and {{a, b}}.

(vi) If A:{l, S 4}, then write a relation in A4 for {(x,y)fx+y=5}

(vii) Define Symmetric and Skew Symmetric Matrix.
4 43 <§®
(viii) Ifthematrix | 7 3 6 | is symmetric, then find valugof 4.
2 3 1

(ix)  Without expansion, show that | g

(x)  Solve x}{ - xx -6
(xi)  Show that the po ial (x - 1) is a factor of polynomial x* + 4x — 5 by using factor theorem.

(xii) Discuss nature of roots of equation x* + 2x+3=0.

W

Attempt any eight parts. 8§x2=16

(i) Resolve 31 l into partial fractions.
x —_—

(i)  Write the first four terms of the sequence, if a, = (-1)"n’.

(i) How many terms of the series =7 + (=5)+(=3)+ —====-- amount to 65?
(iv)  Find the geometric mean between - 2i and 8i.

(v)  Find the sum of the infinite geometric series 4 + o T (O S, [ s —
(vi)  Write two important relations between arithmetic, geometric and harmonic means.
(vii) Write the following in factorial form (n+2)(n+1)(n)

(viii) Find the value of n, when "C,, = "C;.

(ix) Adieisrolled. Find the probability that top shows 3 or 4 dots.

(x)  Use mathematical induction to verify for n =1, 2

JE I +-‘—=z[1-i].

2 4 2" =1 2n
(xi) Calculate (9.98)" by means of binomial theorem.
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NOTE: - Attempt any three questio 3x10=
5.(a) Prove that all non-singular ma c@ order 2 x 2 over real field form a non-abelian group
under multiplication. © >
(b) Find the value of A for. the following system does not possess a unique solution.
Also solve the syst e value of 1 5
x, + 4x,
2x, +x; —2x; =11
3x, +2x, - 2x, =16
6.(a) Show that the roots of the equation x* - 2( m+ —l—] x+3=0, m=0 ,are real. 5
m
4
(b) Resolve Y into partial fraction. 5
-X
7.a)  Sum the series:- L + ! + S —— to n terms. 5
l+vx l-x 1-4x
n
(b) Determine the middle terms in the expansion of [%x - %] 5
x
8.() Prove the following identity:- sin®6 - cos® @ = (sinz 6 - cos’ 6)(1 —sin?@cos’ 8 ) 5
sin@ + sin36 + sin 56 + sin76
Prove that:- = tan 40 5
® cos@ + cos36 + cos 56 + cos76
9(a) Provethat (r, +7,) Tan% =c¢ (with usual notations) 5
463 2l el o : :
() Prove that Cos + 2Tan == Sin 5 pak(:lty,org 5

Attempt any nine parts.

Multan Board-2018 9x2=18

(i)  Convert the angle 54° 45’ into radians.

(ii) Find r, when £=56cm @ =45°inacircle.

(i) Prove that ——

l = 2Sec’®

+
1+ Sin6 1

(iv) If Cosa = % , find the value of Cota,where 0 <a < .

~ Sin®

2

() If @, B, 7 are angles of a triangle A4BC, then prove that Sin (e + B)=Siny

(vi)  Prove that Sin3a = 3Sina - 4 Sin’a

(vii) Find the period of tan%

(viii) State the Law of Cosines.
(ix) Find the area of AABC with a =200, b=120 included angle y =150°
(x) Find R if a=13, b=14, c=15 arethesides of triangle A4BC.

(xi)  Find the value of Sx'r{ Cos™ -—2—)

(xii) Solve the equation Sinx =

(xiii) Solve Sinx + Cosx =0 o @
%@M

V3

ok

|-

65

12901R7AN1000 (MMIYTT T ANY
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" Baper Code 2018 (A) Roll No:
| Number: 2198 INTERMEDIATE PART-I (11" CLASS)
MATHEMATICS PAPER-I GROUP-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in

Slse BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
.No.1

(1) A reciprocal equation, remams unchanged when variable x is rcplaccd b)'
w 2 ® ©) -x o@ pakcity.org %o

(2)  f(x)=3x"+4x" + x -5 isdivided by x + | then remainder is:- {A)—é (B)7 ()6 (D)-7

(3)  Types of rational fractions are:- (A) Two (B) Three  (C) Four (D) Infinite
(4)  Harmonic Mean between @ and b is:- a2 @att 2@t pa-?
a+b ab a+b ab

(5) It a=-1 and b=35 then 4x H isequal to:- (where A = AM and H=H.M)

(A)-S ® = ©5 ® 2
6) “C,.,+"C,_, isequalto:- (where C is combination)

Aa)"C,_, (B)"*'C,_, (©) "*'C,., (D) C
(7) Thevalueof n when "P, =11x10x9 is:- (whcre P@ulallon)

(A) 0 (B) 1 © 2 D) 3

(8)  Inthe expansion of (3 + x)* middle term will be:-  ( O(B) S4x? (C)26x* (D) x*
(9)  Theinequality 4" > 3" + 4 isvalidif n is:-

(A) n=2 (B)n=1 -1 D)yn=-2
(10) Theangle -:-% in degree measure is:- 30° (B) 20" (C) 45" (D) 15"

K

(1)  tan(z - @) equals:-

(A) tana (B) -t (C) cota (D) —cotax
(12)  Period of cot8x is:-
n T
A) — C) — D) »
(A) 3 3 ( )2 (D)
(13)  Inany triangle A4BC, with usual notation , g s 2c) is equal to:-
a
e ¥ . a a
A) sin= B) cos= C) sin— D) cos—
(A) ng (B) o © 5 (D) 5

(14) Inaright angle triangle no angle is greater than:-
(A) 90" (B) 30° (C) 45" (D) 60"

(15)  The value of sin"[cos%) is equal to:-

b 4 kY4 n n
& 20 L D) &
(A) 3 (B) > (©) S ( )3
(16) If sinx=% then x isequal to:-
n 5w - =5r - -5
(A) rirs (B) —, v ©) == (D) ~

(17)  Multiplicative inverse of complex number (ﬁ =l ) is:-

(A)[% ?} (B)(J{ J{] ‘C’[Jy- :7/:?] ”(J_ J;]

(18) If 4, B aretwo setsthen AN( AU B) equals:- (AYA4 (B)AUB (C)B (D)¢
(19) A square matrix A4 is called skew symmetric if A= __

(A) 4 (B) 4 ©) -4 (D) -
(20) It Ii ';|=2, then A=__ (A)1 (B)2 (O3 (D)4

15(Obj)( X T¥ T¥ 1X)-2018(A)-13000 (MULTAN)
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2018 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)
MATHEMATICS PAPER-I GROUP-II TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part b book, 1 . ¢
as given in the question paper. St D@ pakClty.Ofg %‘3

SECTION-I - N

2 Attempt any eight parts. 8§x2=16
(i) Prove that T.% - % = -_—3% by justifying each step. (writing each property)

(i)  Simplify the following (5, —4) + (=3, -8)
(iii) Provethat Z =z ifandonlyif z is real.
(iv)  Write two proper subsets of the set of real numbers R.

(v)  Construct truth table for the following (pa~p)—g.

(vi) Foraset 4=1{1,2,3,4},findtherelation R={(x,y)/x+y<5}in 4.
Also state the domain of R.

(vii) Find 'x' and 'y' if the matrices are as a3 l = I
-3 3y-4 2

(viii) If A=[a;;];.4, thenshowthat /;4 =4

(ix)
(x)
(xi)
(xii) Use remainder the find the remainder, when x? + 3x + 7 isdivided by x +1.
- 8 Attempt any e arts. 8x2=16

(i) Define a Partial Fraction.

@) If l, -l-, - are in arithmetic progression, show that b = .
a b ¢ a+c
(iii)  Find the arithmetic mean between 3v/5 and 5V5.
2 3 2
X X x 14
i t i e R and 0 <x <2. Thenprove that x = ——
(iv) Iftheseries y SN © P 1+y

(v)  IfSis Harmonic mean between “2" and "b". Find "5".

" +1
(vi)  Prove that Zk = "_(E_f__l
k=l

(vii) How many 5 digits multiples of “S” can be formed from the digits 2, 3, 5, 7, 9
when no digit is to be repeated?
(viii) Find n if "C, = "C, ( C is used for combination)

(ix)  What is the probability that a slip of numbers divisible by 4 is picked from slips
bearing numbers 1, 2, 3, , 10?

(x)  Use Binomial Theorem, find (21)*.

(xi)  Expand up to four terms ( 8 -2x)™'

i i i be neglected. Then prove ki A l+§5
(xil) If x be so small that its square and higher powers can g P ,ﬁ——_x 5
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4.

NOTE: - Attempt any three questions.

5.(a)

(®)

6.(a)

®)

7.(a)
(®)

8.(a)
(®)

9.(a)

(®)

Multan Board-2018

Attempt any nine parts. . 9x2=18

()  Find "¢"(arc length) when r =18mm and 6 = 65'20'0@ pakcity. Org
(i) Ifsecd <0 and sin@ <0, in which quadrant terminal arm of '6" lies.

i)  Show that Sin® 7/ + Sin® T/ + tan’ 7/ = 2

(iv) Provethat Sin(180° + 8) Sin(90° - @) = —SinfCos6
(v)  Find the value of Sinl5°

(vi) Prove that tan20 = —228_
1-tan’ @

(vii) Find the period of Cos%
(vili) Inaright A4BC, if b=30.8, c=372 and y =90°. Find a and S

(ix) Find the area of A4BC in which b =21.6, ¢=30.2 and a =52°40'".
(x)  Define “Inscribed Circle”.

(xi) Show that Cos(Sin"x ) =J1-x
(xii) Solve the equation Sinx = -;— where x€[0, 27 ] @@®

(xiii) Solve the equation 4Cos’x -3 =0, whe ?2::
e
S -1

Show that the set {1, o, ®? }, (wh

O
0//9¢
Without expansion verify 0 a =b|=0
b -c 0

2

Resolve x, *1 into Partial Fraction.

x* +1
Solve the equation 3x* - 7x =30 = {2’ =7x =5 =x-5

a +b"
bn 1
Use mathematical induction to prove that the following formula holds for every positive
integer "n"
1 1 1 1 n

Zx5 S8 8xil *Gn-D(n+2) 2(3n+2)

Find the value of n so t.hal

Prove that sin®@ + cos®8 =1 - 3sin’ @ cos’ @
. 4 3

Prove that sm; sin %sm;sm? = E-

The sides of a triangle are x* + x +1, 2x+ 1 and x* -1.
Prove that the greatest angle of the triangle is 120°
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Prove that Cos 6 5 = Sin 5
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may be the Arithmetic Mean between a and b.

3x10=30

= 1), is an abelian group w.r.t. ordinary multiplication. 5

1+3+1

t+]#3



